
QUEST 90  2-STROKES

DS 90  2-STROKES

QUEST 90 / DS 90  4-STROKES – 01/2003 704 300 360 B11

172A-19

FUEL TANK

172A-19
RÉSERVOIR D’ESSENCE

1 A17631145000 Fuel Tank Cap Gasket ..................................... Joint étanche du bouchon à rés. d’essence .. 1 1

2 A944000408355 Breather Hose ......................................... Boyau de reniflard .................................. 1 1

3 A920000601410 Hex. Bolt M6 x 14 ................................... Vis hex. M6 x 14 ..................................... 2 2

4 A1750514500A Sponge Pad ............................................. Tampon éponge...................................... 2 2

5 A17500155000 Fuel Tank Comp. ..................................... Réservoir à essence ............................... 1 1

6 A1762014500A Fuel Tank Cap ......................................... Bouchon de réservoir d’essence ........... 1 1

7 A944000408182 Fuel Tube ................................................. Boyau d’essence .................................... 2 2

8 A944000408300 Fuel Tube ................................................. Boyau d’essence .................................... 1 1

9 A944000408280 Fuel Tube ................................................. Boyau d’essence .................................... 1 1

10 A16950152000 Fuel Cup ................................................... Coupole d’essence ................................. 1 1

11 A9451008000 Clip ........................................................... Pince de boyau ....................................... 7 7

12 A17633145000 Fuel Tank Tube ....................................... Boyau de réservoir d’essence................ 1 1

13 A1762114500A Fuel Tank Cap Body ................................ Bouchon de réservoir d’essence ........... 1 1

14 A960000601210G Hex. Washer Face Bolt M6 x 12 ............ Vis hex. à épaulement M6 x 12 ............. 1 1

15 A944020911150 Tube Cover .............................................. Protège boyau ......................................... 1 1

h
tt
p
:/
/S
e
lf
F
ix
e
r.
c
o
m

Download this Manual

http://www.PDFforLess.com/atv/bombardier/2003.Quest.90.DS.90.4-strokes.Parts.Catalog.htm

	MAIN MENU/ENGLISH
	MENU PRINCIPAL/FRANÇAIS

